o(d o) (rad)

[

-
_3 I 11 1 11 1 1 I 11 I 11 1 L1l 1 1 I 11 1 I
0
=N Y | -
H: IR E * "'-,"_-1» 1
10 B I O 2 7 S O O o SO ) -]
0 +| |7 £ - | = § = T+t
. - -
. T 1 o E 38 P
= =+ E
0.0t Tt e
: - ) [ =
i

o(d dz) (cm)‘

S
L

OJ.J.l

—=— DOM_MKFT_XiMinusPU_Tetrain :
—e— DQM_mkFit—XiMinusPU_NEWdefault_specPLess1 mline)
—— DOM™mkFEit”_XiMinusPU_NEWdefault_specPLess2

—— DOQM”mkFit_XiMinusPU_NEWdefault_specPLess3

—— DOM mkFit” XiMinusPU NEWdefault_specPLess4

...................................................................

o 1 2 3
TP ® (PCA to beamline)

~107?

-

odp_/p

0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


